
# pol_orthogonaux.py

01| import numpy as np
02| import matplotlib.pyplot as plt
03| import numpy.linalg as alg
04| from numpy.polynomial import Polynomial
05| nb_points = 100
06| 
07| 
08| # Méthode avec solve
09| 
10| def calcule_poly(n):
11|     mat_A = [[1/(i+j+1) for i in range(n+1)] for j in range(n+1)]
12|     for j in range(n+1):
13|         mat_A[n][j] = 1
14|     mat_B = [0 for i in range(n+1)]
15|     mat_B[n] = 1
16|     return  Polynomial(alg.solve(mat_A, mat_B))
17| 
18| def trace_poly(n):
19|     poly = calcule_poly(n)
20|     liste_abs = np.linspace(0, 1, nb_points)
21|     liste_ord = poly(liste_abs)
22|     plt.plot(liste_abs, liste_ord)
23| 
24| 
25| # Méthode avec orthogonalisation
26| 
27| def monome(n):
28|     p = [0 for k in range(n+1)]
29|     p[n] = 1
30|     return Polynomial(p)
31| 
32| def produit_scalaire_1(p, q):
33|     return np.sum([[p.coef[i] * q.coef[j] / (i+j+1) for j in
range(len(q))] for i in range(len(p))])
34| 
35| def produit_scalaire_2(p, q):
36|     return (p*q).integ()(1)
37| 
38| def carre(p):
39|     return produit_scalaire_1(p, p)
40| 
41| def orthogonalisation(n):
42|     liste_pol = [Polynomial([1])]
43|     for d in range(1, n+1):
44|         p = monome(d)
45|         for k in range(d):
46|             pk = liste_pol[k]
47|             ck = carre(pk)
48|             uk = produit_scalaire_1(p, pk)
49|             p = p - (uk / ck)*pk
50|             p = (1/p(1))*p
51|         liste_pol.append(p)
52|     return liste_pol
53| 
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54| def trace_poly_bis(n):
55|     liste_pol = orthogonalisation(n)
56|     liste_abs = np.linspace(0, 1, nb_points)
57|     for poly in liste_pol:
58|         liste_ord = poly(liste_abs)
59|         plt.plot(liste_abs, liste_ord)
60| 
61| trace_poly_bis(8)
62| plt.show()
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